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Examiner tips


Advice from the examiner on key points in the text to help you learn and recall unit content, avoid pitfalls, and polish your exam technique in order to boost your grade.
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Knowledge check


Rapid-fire questions throughout the Content Guidance section to check your understanding.
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Knowledge check answers




1 Turn to the back of the book for the Knowledge check answers.
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Summary





• Each core topic is rounded off by a bullet-list summary for quick-check reference of what you need to know.
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Questions & Answers
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About this book



The aim of this guide is to prepare students for the AQA Advanced Subsidiary ECON 3 examination assessing Unit 3: Business Economics and the Distribution of Income.


How to use the Guide


Content guidance


Start off by reading the Content guidance section of the book, which divides the Unit 3 specification into nine separate topics. You can read all the topics, one by one, before proceeding to the Questions and Answers section of the Guide. Alternatively, you may decide to read a particular topic and then to read the part of the Questions and Answers section that relates to the topic. The topics follow the order of the Unit 3 specification, proceeding from Firms, production and costs through to Income, Wealth and Poverty.


Questions and Answers


You should read the Questions and Answers section of the book after reading all nine specification topics in the Content guidance section, or bit by bit, having revised a selected topic covering a particular part of the specification.


Data-response questions (DRQs)


There are four data-response questions (DRQs) in the Questions and Answers section of the Guide. In this Guide, the data-response questions are numbered 1 to 4. Questions 1 and 2 are Global Context questions, while Questions 3 and 4 are European Union Context questions. In Section A of the ECON 3 exam that you will eventually sit, the questions will be numbered Question 1: The Global Context and Question 2: The European Union Context.


The section covering the data-response questions also includes:




•  A student’s answer for each DRQ.


•  Examiner’s comments on each student’s answer explaining, where relevant, how the answer could be improved. These comments are denoted by the icon [image: ].





Essay questions (EQs)


Section B of the ECON 3 exam paper includes three essay questions numbered Essay 1, Essay 2 and Essay 3, of which you must answer one question. There are also three essay questions (EQs) in the Essay questions section of this Guide. Unlike the DRQs, the essay questions, which in this Guide are numbered Questions 5, 6 and 7, do not reflect the Global and European Union Contexts which provide the format for Section A of the exam paper.


You can use each of the seven data-response and essay questions in this Guide, either as timed test questions in the lead-up to the examination, or to reinforce your understanding of the specification subject matter, topic by topic, as you proceed through the Content guidance.


Using other Economics resources


This Guide should be used as a supplement to other resources, such as class notes, textbooks, Economic Review magazine and AS/A-Level Economics Exam Revision Notes. (The last two of these are published by Philip Allan Updates.) As this Guide contains summaries rather than in-depth coverage of all the topics in the specification, you should not use the Guide as your sole learning resource during the main part of the course. However, you may well decide to use the Guide as the key resource in your revision programme. You are strongly advised to make full use of the Questions and Answers section, especially in the revision period when you should be concentrating on improving your examination skills.


Note: AQA now provides all its resources, including the specification, past exam papers and mark schemes on its website: www.aqa.org.uk.


In addition, provided they are registered with e-AQA, your teachers can also access exam papers, mark schemes and examination reports rather earlier, after the exams have finished. Any further information about AQA Economics can be obtained from the Economics subject officer, AQA, Stag Hill House, Guildford, GU2 7XJ.





Content guidance


In contrast to AS Unit 1: Markets and Market Failure, which is concerned with elementary microeconomics, Unit 3: Business Economics and the Distribution of Income centres for the most part on more advanced microeconomics. As the specification states, Unit 3 builds on the knowledge and skills developed in Unit 1. It will require you to use and evaluate more complex microeconomic models: for example, perfect competition, monopoly and oligopoly, and to develop further your critical approach to such economic models and methods of enquiry. You will need to demonstrate a realistic understanding of the decisions made by firms and how their behaviour can be affected by the structure and characteristics of the industry. In this Unit, you are required to develop a more formal understanding of economic efficiency and the arguments for and against government intervention in markets than was required at AS level.


The Unit also requires that you understand the operations of the labour market and the factors which influence relative wage rates, poverty and the distribution of income and wealth. You must appreciate the ways in which developments in United Kingdom markets and government microeconomic policy can be related to the Global and European Union (EU) Contexts.


Examples of issues which could be examined in the Global Context are the impact of globalisation on markets and firms within the UK economy: for example, through the increased economic power of multinational (transnational) companies and through a greater international mobility of capital and labour. Environmental issues should also be seen from a global perspective.


The Unit 3 specification mentions a number of examples of issues in the European Union Context which might form the scenario for an EU Context data-response question. These are the increased competitiveness of UK markets resulting from firms’ access to the wider EU market, and the potential exposure of UK firms to EU competition policy as well as to UK national competition policy. Other issues include the impact on UK product and labour markets of EU common economic policies, e.g. the Common Agricultural Policy, and the microeconomic aspects of other EU measures such as the Single European Market, the free movement of labour and policies addressing income inequalities across the EU.



Summary of the specification



The AQA specification for Unit 3 contains the following sections.


3.3.1 The firm: objectives, costs and revenues


This specification section covers knowledge of short-run and long-run production (including the law of diminishing returns and returns to scale), knowledge of how cost curves are derived from production theory in both the short run and the long run, and an understanding of economies of scale, diseconomies of scale and minimum efficient scale in relation to a firm’s long-run average cost curve. The concepts of fixed cost and variable cost, and marginal cost, short-run average cost and total cost must also be understood, along with total, average and marginal revenue. You may be required to draw cost curves and revenue curves from data supplied in the exam question.


The concept of the margin is particularly important in the Unit 3 specification. Having refreshed your knowledge of marginal private, external and social cost and benefit learnt at AS, at A2 you must also understand the concepts of marginal returns (marginal product), marginal cost and marginal revenue. Knowledge of profit, which is the difference between revenue and cost, is required. Although not mentioned in the specification, the concepts of normal and supernormal (or abnormal or above normal) profit are important.


You must understand the profit-maximising objective of firms, and its relationship to the traditional theory of the firm, together with alternative objectives to profit maximisation such as satisficing. You must also understand the reason for the separation or divorce of ownership from control in modern industrial economies and how this affects the conduct and performance of firms. You must understand how technological change and technical progress affect the structure of markets and the production and consumption of goods and services, together with the impact of invention, innovation and technological change upon a firm’s methods of production, its efficiency and its cost structure.


3.3.2 Competitive markets


This section of the Unit 3 specification introduces the economist’s model of perfect competition. You must know how, subject to certain assumptions about the absence of externalities and economies of scale, perfect competition results in efficient resource allocation. Given these assumptions, consumers benefit from competitive markets. You must be able to handle a formal diagrammatic analysis of perfect competition, in the short run and the long run, and at the level of both the whole market and a single firm within the market. Knowledge of methods of competition other than price competition is expected, though such knowledge is likely to be more relevant to an understanding of concentrated markets.


3.3.3 Concentrated markets


This section of the specification covers two important market structures in the real economy: monopoly and oligopoly, where firms are price-makers rather than price-takers. You must understand how and why firms grow and the difference between internal growth (organic growth) and external growth via takeover or merger. You must know how to evaluate and compare the conduct and performance of firms within these market structures with the conduct and performance of perfectly competitive firms. You must understand the sources of monopoly power.


You may be asked to apply efficiency concepts to analyse and evaluate the performance and desirable and less desirable characteristics of monopoly, oligopoly and perfect competition. You must also analyse market structures in terms of gains, losses and transfers of economic welfare in the form of consumer surplus and producer surplus.


You must understand how uncertainty and interdependence, in both competitive oligopoly and collusive oligopoly (for example, in cartels), affect firms’ behaviour, leading to different forms of price setting, including price discrimination. The role of entry barriers in protecting monopoly power is also important. You must appreciate how market contestability affects industry performance and the roles of sunk costs and hit-and-run competition.


3.3.4 The labour market


This section of the specification requires application of supply and demand theory to the economy’s labour markets. You must understand how the demand for labour is a derived demand, explained in part by marginal productivity theory and the law of diminishing returns (in specification section 3.3.1). It is important to distinguish between demand for, and supply of, labour in the whole of a labour market, and at the level of a particular firm and an individual worker within the labour market.


In perfectly competitive labour markets, individual firms and workers are passive price-takers at the ruling market wage set in the market as a whole. By contrast, in monopsony labour markets, a single employer or buyer of labour has the market power to set the wage rate below the value of the marginal product of labour. Monopsony employers can also engage in wage discrimination, and discrimination according to gender, race or religion.


You must understand the various factors that affect the ability of trade unions to influence wages, and analyse the effect on employment of a union setting a wage above the free-market wage, both in a previously perfectly competitive labour market and in monopsony. You should be able to adapt this knowledge to analyse the effect of a national minimum wage. Knowledge of the distribution of income and wealth in the UK is expected, and of the factors influencing the distribution.


3.3.5 Government intervention in the market


The specification requires application of efficiency and welfare criteria, particularly allocative efficiency and inefficiency, to explain and analyse market failures and related policy solutions. The use of marginalist analysis is expected, particularly the use of diagrams learnt at AS, showing marginal private cost and benefit and marginal social cost and benefit. Market failures associated with environmental change are likely to figure in examination questions. You are expected to display greater understanding of how imperfect information and the absence of property rights may lead to market failure and be able to evaluate the extent to which an unequal distribution of income and wealth is the result of market failure.


Explanation, analysis and evaluation of government policies to correct market failure is expected. This may centre on policies such as taxation and regulation, together with establishing markets in permits to pollute and in property rights. You must appreciate how government intervention to correct or reduce market failure may create new problems of government failure such as regulatory capture, which occurs when regulators, who are meant to protect the interests of consumers, side instead with the producers they are supposed to regulate.


When assessing the costs and benefits of government intervention, you must understand the principles of cost–benefit analysis (CBA) and be able to evaluate the advantages and disadvantages of using CBA. A number of topics relating to the government’s industrial policy are important. These are competition policy, public ownership, privatisation, regulation and deregulation of markets, together with some knowledge of competitive tendering, internal markets and public–private partnerships. You must understand the nature of poverty and be able to analyse government policies to reduce poverty which aim to make the distribution of income and wealth more equal. When evaluating the success of these policies, you must understand the difference between absolute poverty and relative poverty, and the difference between vertical and horizontal equity.


Checklist of relevant Unit 1 terms


Here is a checklist of Unit 1 AS terms, concepts and theories, for the most part not mentioned in the Unit 3 specification, which might be needed for the ECON 3 exam:




•  the purpose of economic activity


•  the economic problem, scarcity, the need for choice and opportunity cost


•  economic resources and factors of production


•  the difference between economic goods and free goods


•  the nature of a competitive market


•  supply and demand diagrams, equilibrium, disequilibrium, excess demand, excess supply


•  shifts of demand and supply curves


•  elasticity: price elasticity of demand and supply, income elasticity of demand, cross elasticity of demand


•  substitutes, complementary goods, derived demand and composite demand


•  normal goods and inferior goods


•  how changes in one market can affect other markets


•  the signalling, incentive and rationing (allocative) functions of prices


•  cost curve diagrams, economies and diseconomies of scale


•  causes of market failure: public goods, positive and negative externalities in production and consumption, monopoly and income inequalities as market failures, merit goods, demerit goods, together with relevant marginal private, external and social cost and benefit diagrams, and an understanding of how under-provision of merit goods, and over-provision of demerit goods may result from imperfect information


•  government policies to make markets work better and to correct market failure: taxation, subsidy, redistribution, regulation, tradable permits to pollute, price controls, buffer stock policies


•  government failure






Firms, production and costs



These notes, which relate to AQA specification section 3.3.1, prepare you to answer AQA examination questions on:




•  firms and their objectives


•  production theory


•  costs of production





Essential information


Firms


There are many different types of business or firm, ranging from very small one-person businesses, performing functions such as painting and decorating, to massive companies such as British Petroleum (BP), at the opposite end of the size spectrum. The latter are often multinational firms owning and controlling subsidiary companies and establishments throughout the world. In most instances, the largest companies are also multi-product firms, producing and selling different goods and services in a number of different markets.
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Knowledge check 1


What is meant by a firm?
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Firms’ maximising objectives


Economists usually assume that firms have a single business objective — to maximise profit. However, real-world firms may have other objectives: to maximise sales revenue; to maximise the growth of the business; or to maximise managerial objectives. The last is significant when there is a divorce of ownership from control in a business, which occurs in large firms organised as public limited companies (plcs). Plcs are owned by thousands of shareholders who employ managers or executives to run the business. As business scandals in the early twenty-first century in firms such as Enron and the Royal Bank of Scotland (RBS) have shown, the managers may pursue their own agendas, maximising their own pay and making decisions that are not in the interest of the owners of the business.


Firms’ satisficing objectives


So far I have assumed that firms have a maximising objective, be it profit, sales revenue, growth, or management pay and creature comforts. However, some firms may be best modelled as satisficers rather than maximisers. Under this assumption, decision makers in firms, be they the owners of small corner shops or the chief executives of huge plcs, may be content with a satisfactory outcome, say satisfactory profit, rather than the best possible outcome. They may be happy with an easy life.


Production and the factors of production


Firms produce goods or services for sale at a price in markets. Production converts inputs into outputs of useful goods and services. The inputs necessary for production to take place, which include the services of labour, capital and land, are known as the factors of production. Economists also identify a fourth factor of production, enterprise or the entrepreneurial input. The entrepreneur is the financial risk taker and decision maker. In a small business, the owner combines both these functions, bearing the financial risks, but also reaping the financial rewards, and deciding such questions as what, how and how much to produce. However, with the divorce between ownership and control in many large firms, the entrepreneurial function is split between owners (shareholders) and the salaried managers they employ.
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Knowledge check 2


How do an entrepreneur’s functions differ from those of land, labour and capital?
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The short run and the long run


In microeconomic theory, the short run is the period of time in which at least one factor of production is fixed. In the short run, a firm can increase output or supply only by adding more of a variable factor, such as labour, to the fixed factors of production such as capital and land. Also, firms cannot enter or leave a market in the short run. In the long run, all the factors of production are variable and a firm can increase output or supply by changing the scale of the factors held fixed in the short run. Only in the long run can a firm either expand the scale of its operations by increasing capacity, or reduce its activities by closing down a plant. The long run is also the time period in which new firms can enter a market or industry and existing firms can leave, providing no barriers exist to prevent freedom of entry and exit.


Short-run production and the law of diminishing returns


Suppose a small manufacturing firm decides to employ only one worker. The worker must be a jack-of-all-trades, doing all tasks involved in production. But if more workers are hired, output can rise at a faster rate than the number of workers employed. This is because the workers benefit from specialisation and the division of labour, as production tasks are divided between the workers. In this situation, the marginal product of labour will increase. Marginal product (marginal returns) is the increase in output that results from adding an extra worker to the labour force.


However, eventually, as more and more workers are combined with the firm’s fixed capital, the benefits of further specialisation and division of labour come to an end. The law of diminishing returns (also known as the law of diminishing marginal productivity) sets in when the marginal product of labour starts to fall. That is, when one more worker adds less to total output than the previous worker who joined the labour force.
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Examiner tip


Make sure you don’t confuse the two words ‘returns’ and ‘revenue’. One way of avoiding confusion is to prefer the term ‘marginal product’ to the term ‘marginal returns’.
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Long-run production and returns to scale


The law of diminishing returns is a short-run law which does not operate in the long run, when a firm can increase the scale of all its inputs or factors of production. You must not confuse the short-run law of diminishing returns with returns to scale, which occur only in the long run. With returns to scale there are three possibilities:




•  Increasing returns to scale. An increase in the scale of all the factors of production causes a more than proportionate increase in output.


•  Decreasing returns to scale. An increase in the scale of all the factors of production causes a less than proportionate increase in output.


•  Constant returns to scale. An increase in the scale of all the factors of production causes an exactly proportionate increase in output.
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Knowledge check 3


What is the difference between the law of diminishing marginal productivity and decreasing returns to scale?
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Short-run costs


In the short run, a firm’s total costs of production divide into fixed costs (the cost of employing the fixed factors of production, such as capital) and variable costs (the cost of employing the variable factors of production, such as labour). Total fixed costs (TFC), (overheads), are shown by the constant or horizontal line in the left-hand panel of Figure 1. The right-hand panel shows average fixed costs (AFC), which fall as overheads are spread over larger levels of output.
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Figure 1 Total fixed costs and average fixed costs





[image: ]




Knowledge check 4


Can you remember from your AS studies the meaning of ‘opportunity cost’?
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Average variable costs and marginal costs


Figure 2 shows an average variable cost (AVC) curve, with a marginal cost (MC) curve rising and cutting through the lowest point on the AVC curve. Marginal cost is the extra cost of producing one more unit of output. The shape of the MC curve is explained by marginal productivity theory. As long as the marginal productivity of labour is increasing, then, assuming all workers are paid the same wage rate, the cost of producing an extra unit of output falls. Hence marginal costs fall at low levels of output. But as soon as the law of diminishing returns sets in, each worker hired adds less to total output than the previous worker taken on. Total costs of production rise faster than output, leading to rising marginal costs.
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Figure 2 Average variable costs (AVC) and marginal costs (MC)
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Knowledge check 5


Give two examples of fixed costs and two examples of variable costs.
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The relationship between marginal and average curves for any set of economic data


Figure 2 provides an illustration of the important relationship between any marginal curve and the average curve plotted from the same data:




•  when the marginal > the average, the average rises


•  when the marginal < the average, the average falls


•  when the marginal = the average, the average is constant, neither rising nor falling





The relationship between marginal and average curves has several economic applications: marginal and average product curves (in production theory); marginal and average cost curves (illustrated in Figures 2 and 3); and, as I shall explain in the next topic, marginal and average revenue curves. You must understand this relationship. It does not state that an average curve will rise when the related marginal curve is rising, or that the average curve must fall when the related marginal curve falls. Study Figure 2 carefully. After diminishing returns set in, the MC curve starts to rise, but the AVC curve continues to fall as long as marginal costs are below average variable costs. Eventually, however, the MC curve rises through the AVC curve, causing the AVC curve also to rise. As a result, the AVC curve is U-shaped, with the MC curve cutting through the curve at its lowest point.


Average total costs


The left-hand panel of Figure 3 shows how the firm’s average total cost (ATC) curve is arrived at by adding up the AFC and AVC curves. The right-hand panel of Figure 3 shows the ATC curve without its two ‘building blocks’ (AFC and AVC). The ATC curve is U-shaped, showing that average total costs per unit of output first fall and later rise as output is increased. ATC must eventually rise because, at high levels of output, any further spreading of fixed costs is insufficient to offset the impact of diminishing returns upon variable costs of production. Eventually, rising marginal costs (which, as I have explained, result from diminishing marginal returns) must cut through and pull up the ATC curve.
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Figure 3 The average total cost curve results from adding AVC to AFC
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Knowledge check 6


Why are a firm’s average variable cost (AVC) curve and its average total cost (ATC) curve ‘U’-shaped in the economic short run?
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Long-run average costs, and economies and diseconomies of scale


Just as the short-run law of diminishing returns explains rising marginal costs and (eventually, when marginal costs cut through average total costs) rising average total costs, so I shall now use long-run production theory concepts to explain the firm’s long-run average cost (LRAC) curve, illustrated in Figure 4. If, as the firm increases the size or scale of all its factors of production, it benefits from increasing returns to scale, the LRAC curve falls. Falling long-run average costs are known as economies of scale. Conversely, rising long-run average costs are known as diseconomies of scale. You should notice that a number of short-run average total cost (SRATC) curves, labelled SRATC1, SRATC2 and SRATC3, have been drawn in Figure 4, and that the LRAC curve touches (or is tangential to) each SRATC curve. Each SRATC curve represents a particular short-run size of firm.


The left-hand panel of Figure 4 shows a U-shaped LRAC curve in which economies of scale and falling long-run average costs give way beyond SRATC3 to diseconomies of scale. SRATC3 represents the lowest unit cost and most productively efficient size of firm. This is also sometimes called the optimum size of firm. However, other shapes of LRAC curve are also possible. The right-hand panel of Figure 4 shows an L-shaped LRAC curve. The size of firm represented by SRATC3 in this diagram is called the minimum efficient scale (MES). It is sited at the point on the LRAC curve beyond which no more economies of scale are possible. But there are no diseconomies of scale, so all sizes of firms beyond the MES are equally productively efficient.
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Figure 4 Long-run average cost curves
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Examiner tip


Make sure you don’t confuse the economic short run and the economic long run, and short-run cost curves and long-run cost curves.





[image: ]





Examination questions and skills


Examination questions which require detailed explanation of the shape and slope of cost curves are not likely to be set. Rather, questions will test your ability to select an appropriate cost curve diagram to use in the explanation, analysis and/or evaluation of, for example, the growth of firms, economies of scale, the nature of production, economic efficiency, and firms’ conduct and performance in the different market structures of perfect competition, monopoly and oligopoly.


Common examination errors


Commonly made mistakes on firms, production and costs include the following:




•  Assuming that all firms have a single objective — profit maximisation.


•  Confusing the short run and the long run, both for production theory and for cost curves.


•  Using the long-run concept of economies of scale to explain short-run cost curves.


•  Showing no understanding of the relationship between marginal and average costs.


•  Badly drawn cost curves, incorrectly labelled with the MC curve in the wrong position.


•  Confusing marginal and average returns with marginal and average revenue.


•  Writing long irrelevant descriptive answers — for example, on types of economy of scale — when the question requires analysis and the application of theory rather than description.
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Summary




•  Firms vary in size from one person businesses (sole traderships) to extremely large multinational companies operating throughout the world.


•  Economists usually assume that firms have just one business objective, profit maximisation, but real-world firms often have other business objectives.


•  The owners of firms, or the managers they employ, may sometimes be ‘satisficers’ rather than ‘maximisers’.


•  Large firms often exhibit a divorce between ownership and control.


•  The law of diminishing returns (also known as the law of diminishing marginal productivity) is a key determinant of marginal costs and the shape of a firm’s short-run average cost curves.


•  The concept of the ‘margin’ is one of the most important concepts in business economics.


•  In the economic long run, the nature of returns to scale determines the shape of a firm’s long-run average cost (LRAC) curve.


•  The shape of the LRAC curve can illustrate economies of scale, minimum efficient scale (MES) and diseconomies of scale.
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